
Emissions:
high = ↑ = 3.0 +/- σ = 0.1
low = ↓ =  0.5 +/-σ=0.1 

sample 1 (n=3) sample 2 (n=3)

L1↑: ↓ ↑ Alu↑: ↓ ↑

↓ 0.50 0.50 ↓ 0.50 0.50

↑ 0.05 0.95 ↑ 0.05 0.95

else↓:
↓ ↑

else↓:
↓ ↑

↓ 0.95 0.05 ↓ 0.95 0.05

↑ 0.6 0.4 ↑ 0.6 0.4

L1 enriched Alu enriched
sample 3 (n=3)

L1↑: ↓ ↑

↓ 0.50 0.50

↑ 0.05 0.95

else↓:
↓ ↑

↓ 0.95 0.05

↑ 0.6 0.4

SVA enriched

sample 1 (n=3) sample 2 (n=3)

L1↑: Alu↑:

else↓: else↓:

Input Input
sample 3 (n=3)

L1↑:

else↓:

Input

↓ ↑

↓ 0.95 0.05

↑ 0.6 0.4

↓ ↑

↓ 0.95 0.05

↑ 0.6 0.4

↓ ↑

↓ 0.95 0.05

↑ 0.6 0.4

↓ ↑

↓ 0.95 0.05

↑ 0.6 0.4

↓ ↑

↓ 0.95 0.05

↑ 0.6 0.4

↓ ↑

↓ 0.95 0.05

↑ 0.6 0.4

chr 5, 2*106 reads
chr 10, 2*106 reads
chr 19, 2*107 reads

chr 5, 2*106 reads
chr 10, 2*106 reads
chr 19, 2*107 reads

chr 5, 2*106 reads
chr 10, 2*106 reads
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